&

o FA aregEen ¥ R gegel @ = B | (W 150 =3t § Qo)

Discuss the salient features of the Harappan architecture. (Answer in 150 words)

L/ (--E\O‘VW },) AN
) Den ,Lou?*‘(} 10

yaaR % uffE wEeEEd ¥ W@ degdl &1 e i |
(FTR 150 Y=l A Q)

Examine the main aspects of Akbar’s ;e]_iﬁgiggg_gg]*c{g_@m, (Answer in 150 words)
t"‘ [)’h/" - )‘, ,; /(//,{’/Q.ﬁu 10

‘@mﬁﬁéﬁawsﬁaﬁsﬁaﬂaﬁmaﬁ?ﬁmaﬁa%m&ml’
e ife | (IW 150wt # Q)

‘The sculptors filled the Chandella artfd@with resilient vigor and breadth of

life) Elucidate. (Answer in 150 words) ,ujwmho terpls 10

aﬂa@wﬁaﬁﬂaﬂ?wwﬁgﬁﬁéﬂ%&ﬁ%aﬁ%ﬁﬁ%ﬁwﬁa
@ 27 v % ww WAt At | (SR 150 v=1 A dfm)

How are climate change and the sea level rise affecting the very existence of
many island nations ? Discuss with examples. (Answer in 150 words) 10

ﬁ-ﬁmﬂﬁﬁnﬁﬁﬁﬁw%?ﬂvﬁﬁﬁﬁmﬁﬁvﬁﬁmﬁﬁwﬁ%
e YR Gl 2 7 IUTh STERut % | ST hIg | (I 150 9= A Q)

What are non-farm primary activities ? How are these activities related to
physiographic features in India ? Discuss with suitable examples.

(Answer in 150 words)

wgﬁwm%m,wﬁﬁzwﬁm%wﬁﬁﬁﬁmﬁtmﬁmmﬁ
£ wog § aren @b | (ST 150 =5 # <)

ecological and economic benefits of solar energy generation
ble examples. (Answer in 150 words) 10

10

Explain briefly the
in India with suita

WW%?a%ﬁaﬂmﬁﬁaﬂ?ﬁ%?mWW%?mﬁﬂﬁa
AR | (IW 150 Wkl A Qi)

e they formed? What are their

What are Tsunamis ? How and where ar
10

consequences ? Explain with examples. (Answer in 150 words)
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10.

11.

12.

14.

LUSHG I A G R SR I R R B S —
27 (W 150 vt F dfm)

How does smart city in India, address the issues of urban poverty and
distributive justice ? (Answer in 150 words) 10

W A fafad da @ deer FEEfiea @R T e ¥ waem @
wetg ® e Hifs | (I 150 w=i # i)

The ethos of civil service in India stand for the combination of
professionalism with nationalistic consciousness — Elucidate.
(Answer in 150 words) 10

wa@m%%ﬁmmmmmmw&ﬁ
?7 g I A gl A (w150 w=i # @)

Do you think that globalization results in only an aggressive consumer culture ?
Justify your answer. (Answer in 150 words) 10

WETHT SIARE o F B GUR GAE AR @ A wes % e aeh itk
qaE foawEsl ®ogen ¥ W= i | (I 250 wed B Afw)
Mahatma Jotirao Phule’s writings and efforts of social reforms touched issucs

of almost all subalten classes™ Discuss. (Answer in 250 words) 15
o | Dats )

AT, w4 waEd, e @k sewRigm @ & fawa d oamnd & wriem
A WRA F ggdiew @ W @ w@ifed ffw | (IR 250 gl | drfi)

Trace India’s consolidation process during early phase of independence in terms
. — . . . . .

of polity, economy, ed_g_c_z_iggg_ and international relations. (Answer in 250 words)

e 15

wawr fawa & fou i wm & fow gl 2 wmw i
(| 250 s=1 & dfsm)

The French Revolution has enduring relevance to the contemporary  world.
Explain. (Answer in 250 words) ’

15
T & F9ada 9@ IR ¥ famw @1 dvnfas eadian & | 4 g
9 WR F fEm wEr fem 27 (I o250 wem #@ dfim)
Give a geographical explanation of the distribution of off-shore o reserves
of the world. How are they different from the on-shore occurrences of oil
reserves 7 (Answer in 250 words) 15
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15.

16.

17.

18.

19.

20.

g 3R &g e aam # it . mtm.tr,a.aar«haﬁ‘mamgﬁn
e () ok g9 @ et @1 A Swm 4 fEmoom wwa @7
(S| 250 vt # dfr)

How can Artificial Intelligence (Al) and drones be effectively used along with

GIS and RS techniques in locational and areal planning ?
(Answer in 250 words) 15

=t fifse & m F wedl ok wewrRE g & @@ A wm (A1)
H, Fed gEHEl f HiE afdfaftdt & @, afieda dFE o #
(SR 250 =gt ¥ @fom)

Discuss how the changes in shape and sizes of continents and ocean basins

of the planet take place due to tectonic movements of the crustal masses.
(Answer in 250 words) 15

qfn, Tt sk v goreel & flw dot ¥ ww m Ad A # wEen A
IR wE R FH A (IR 250 W= F dfm)

Discuss the distribution and density of population in the Ganga River Basin
with special reference to land, soil and water resources. (Answer in 250 words)

15

%-mmﬁ%@ﬁ%?wﬁ’mm%mwmmwm
M | (IR 250 vt # Gfm)

HOW do you account for the growing fast food industries given that there are
lnqeased health concemns in modern society ? Illustrate your answer with the
Indian CXperience. (Answer in 250 words) 15

"'.'“' T R AR W g v feww e ww, WRA FE T AW
mﬁﬁm_%mmﬁmm%‘hr 3
Achieving sustainable groyqp with em
come into conflict With poo, People’s
(Answer in 250 words)

A A AT B e i et gt a8

g faar o 0| mzmarﬁiﬁw )

Does tribal dCVEIOPmem in India Centre aroyn
ditation 7 G1ve YOUT Opinjgp

and of rehabilhtation :

phasis on environmental protection could
needs in a country like India — Comment

15

d two axes, those of displacement
(Answer in 250 words) 15
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